Sr

Questions

2143 in binary systemis ------------------

(1001001)2 in decimal system is ----------

(100011)2 x (1101)2 =

(1101)2 + (1001)p =

29 in binary number system is

In base 2 system digits are used

In decimal system (12)s5 is equal to

Number of digits in decimal system

Answers Choice

A. (1111100111)<sub>2</sub>
. (100001011111)<sub>2</sub>
. (1101101101)<sub>2</sub>
. (1000010111)<sub>2</sub>
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(11100011 1)<sub>2</sub>
(100011001)<sub>2</sub>

C. (100000001)

D. (110011001)<sub>2</sub>

A

B

(10110)<sub>2</sub>
(11100)<sub>2</sub>
C. (10001)<sub>2</sub>
D. (11011)<sub>2</sub>
A

(110101)<sub>2</sub>
B. (10101011)<sub>2</sub>
.(1011101)
(11101)<sub>2</sub>



